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Remember:You are not allowed to use the L Hopital's rule,
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Remember:You are not allowed to use the L” Hopital's rule.
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Remember:You are not allowed to use the L Hopital’s rule.
3a)Find all possible values of 7 and 7 such that
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Remember:You are not allowed to use the I.” Hopital's rule
4.Suppose f is a function that satisfies the equation f(x+ ¥)= f(x)+ f(3)+ x’y+ xp” for
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Remember:You are not allowed to use the L” Hopital’s rule.
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5a)Write an equation of the tangent line to the curve y= — passing through the point P(0,1).
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